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[1] 6ab — 3a { 3amS AR TT ! ]
= 3a(2b —1)

8] x? —2x +1 /L FEARDTT ! }

= (x—])2

5] 9a° — 9a — 4
3a=A £H<

= A’ —34—4

= (A —4)(A+1)

= (3a —4)(B3a +1)

7 x+y)° —70x+y) +10
xty=4 £ H<

= A7 —74+10

= (4—2)(4—35)

= (x+y—2)(x+ty—35)

5l @@ —b)° —(c+d)’
a—b=4, ¢c+d=B £HE<
_ A2 _Bz
= (A +B)(A — B)
= {(a —b) *(c +d) }{(a—Db) —(c +d)}
= (@—b+c+d(@a—b—c—d

N
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2) 3% y°z —9x° yz + 6xy
= 3xp(x 2yz —3xz +2)

4 p? +9p +20
= (b+4)(b +5)

(6] 8]x2 —yZ { T2R0< 2 %) rwr!]
= (9x)7 —y°
= (9% Ty)(9x —y)

8] —28x° —84xy —63y°
= —7@x°+12y+97)
= 2x=A4, 3y=B £ H<

= —7(4° +24B +B°)
= —7(4A+B)°

= —7(2x+3y)°

[10] p2 ¢ — 7be +12¢
= (b’ —7b+12)
= ¢(b —3)(b —4)
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